Parts List «..x:

9 paDUEIN
A —— — & & 4 ]
Model: BC233M =Y API—F 523822






MmEROIERAICDOLT

1. @D TEX DRI

WiER () - MBS - BBRAW - EZARKEZSLY,

INSEAEAR (A R DEEFRE S RBZELN,

amlEsd TAILMIERSR ] ZTEALLIL,
AERKRIFEBLEZLDEHYET,
ABARRIIBVRDAEFTEELERTLHENAHYFET,

Fig. DRRIZDINT

AZAMR—=U|Z Fig. XXBRBERTLTHYET . COXXKIFAFAM—D
ELORHLESZRLET .

L T

=P/

L 7. TS 1~2
2. IV (T =R DD E) e 3~6
K3 MDAV QU b B 170 2 S 3 B 7~8
4. T (AxTLA BEIUD) e 9~ 10

B T BB B oo 11 ~ 12



1. BC233M
x &




RHEES | HAEES ] &8 W &% m =
1-1 364329 | BC233M 1
1-2 227923 | TUNDYY 1 | 7X1523L SP-18
1-3 227925 | FIVUNAhUIRA 1
1-4 215532 | £v44=%") 1
1-5 054691 | YUhT7 9347 1 [ 6794
1-6 089738 | 6 Yk ILF 1 | M5x15
1-7 215418 | nUNIWMNYTRTY 34T 1 [ 8744
1-8 092561 | 6 h9K Lk (+)SW 6 | M5x25
1-9 225835 | ¥ Yh—-R93:4T 1 (10~ 15744
1-10 225897 | 6 A9k (W 1 | M6x8
1-11 092550 | 6 HYK Lk (+)SW 1 | M5x25-7T
1-12 225891 | NE/HRRA 1
1-13 225892 | nE/K'AB 1
1-14 225893 | #IN AH N RYEFYL 1 | M8 E4Y
1-15 225896 | 6 h9K I (+) 1 | M5x10
1-16 220549 | F194v—) 1
1-17 236059 | #—L7L—} 1 | BIG-M BC233M
1-18 231654 | NJv—4 1 | ECO
1-19 235791 | nUNIL A TR 1
1-20 235792 | nUNIL B YhA 1
1-21 235778 | MJB'LIN =934T (16) 1
1-22 236111 | 3A°) 1 (39 -TF4v=)
1-23 235748 | ARYMLIMY 1 |[810L1/O 755
1-24 220533 | hAhTNUN934T 1
1-25 222821 | Y AVIVhN =934T 1 | 26794
1-26 092561 | 6 K9 IWb (+)SW 2 | M5x25
1-27 224624 | ¥Y7)— 9 BIG-M 1
1-28 225317 | nY3=4 1 | YYYIRE—}
1-29 237716 | AV —bF1-7° 1 |135L 20154 10 A~




2.BC233M I TV
D59 —R, )UH

311,55 11A55AMFEEH2T 57 —(EAIEEE // 1A1A

HiftitdhY,




RHEES | HAEES mos A W &% 1%
2-1 859457 | IYY'Y 1 | EE231/22
2-2 247691 | YA EYk 1
2-4 267290 | A%Ya 2 | M5x20
2-5 272744 | 40Y1L—4 1
2-6 267049 | A A Yb 1
2-7 269826 | A1V (+)WSW 2 | M5x25WSW #9%
2-8 274339 | v757tU7) 1
2-9 266402 | %Y1 2 | M5x55
2-10 273262 | ' ATYb 1
2-11 272526 | k7"hiN=3u77)—F 1 | -2016.10.
2-11A 278051 | k97"hi'=3u77)—F 1 |2016.11.-
2-12 289774 | A%Ya 1
2-13 261878 | TYb 1
2-14 280144 | 4YEVAY (+) 1 | 4x16
2-15 273674 | H709h-2 1
2-16 280488 | ATYUY 2 | PPL 6001
2-17 261492 | A4LY—) 1
-18 261386 | A4NY—=I 1
2-19 055185 | C h'4kA0 1 | H28
2-20 261612 | 6 h97 Y%K L+ WSW 3 | M5x30
2-21 272204 | E'ARY 1
2-22 264891 | E'AMNUY 2
2-23 261036 | E'ARUEY 1
2-24 263957 | Z—NILATYUY 1
2-25 261576 | =497’ 2
2-26 267193 | 47V90%7h3v77)—+ 1
2-27 248450 | 47VFFVk 1
2-33 272095 | 77VhnN=TtY7 C 1 |34~ 36744
2-34 282233 | 77UhN - 1
2-35 289727 | #79FN 745377+ 1
2-36 014210 | C h'4hAD 1 | S10
2-37 269831 | A1y (+)WSW 4 | M5x20WSW
2-38 282215 | 997’ 1
2-39 281169 | A%Y)1 1
2-40 272066 | X #FTEVT) 1 |41~ 477254
2-41 261356 | A—4 1
2-42 272067 | 19°=93AVAANTEYTY) 1 | 43 ~ 47754
2-43 267401 | 24l 1
2-44 272068 | 1-FT7tY7Y 1 | 45 ~ 47 7914
2-45 272069 | 1—F 1
2-46 261074 | 7°539°%%v7 1
2-47 261075 | 799 1
2-48 261076 | Ny y%— 1
2-49 261417 | ¥5%9 125 FYb 1 | M8
2-50 280381 | AN —# 2




2.BC233M I TV
D59 —R, )UH

311,55 11A55AMFEEH2T 57 —(EAIEEE // 1A1A

HiftitdhY,




RHES | BRAEE ;R & W B % 1
2-51 261256 | 6 h9T7 Y%K WP WSW 2 | M4x25
2-52 286739 | AN=H7'3Y° 1 | cJdeY
2-53 281754 | AN A4YF 1
2-54 269705 | 3NN IBRIES WV EUAES
2-55 273519 | 78 —hin— 1 | -2016.10.
2-55A 276868 | & —hin - 1 |2016.11~
2-56 269827 | A3V (F)WSW 1 | M5X16
2-57 274191 | 3~ 1| A94UFa94




3.BC233M I Ty
JaAIILRA—A




BRES B m AW Bk ]

272591 | YAUN R4—4T7177Y
281211 | A%Ya

—_ N =

282096 | A%Y1 M4x16

269764 | A4—47-TtU7)

289987 | 7474

280489 | A1V (+)WSW 2 | M4x20

269833 | FAIRY (H)WSW 1 | M4x16WSW 9%
273698 | A 1 | BC233M




4.BC233M I >V

FrILE, IV




RHEES | HAEES ] &8 W &% 1%
41 289885 | ¥¥7°LAT7EV7Y 1 [ 2~15744
4-2 274472 | KVIRTA 1
4-3 262991 | N—=Y' KT A 1
4-4 262992 | &V hN - 1
4-5 261874 | 79347 1
4-6 283905 | #°4¥77L 1
4-7 262993 | KA Yb 1
4-8 262994 | 8°4%77L 1
4-9 282576 | A Yh 1
4-10 285030 | ¥'IYh 1
4-11 261871 | O Wy’ 1
4- 261876 | Yo' 1
- 261658 | A4~ 1
- 264682 | %Y1 2
- 262996 | A%Y1 4
4-16 261864 | H'A4Yb 1
-17 284823 | h—AT7tV7") 1 |18~ 24744
-18 269050 | #—Ak'T4 1
-19 284802 | N7 1
4-20 284803 | Ln'— 1
4-21 284816 | 7YY 1 | 6.4x11x0.15
4-22 269032 | A%Y1 1
4-23 126993 | 6 h9FYh 1 | M5
4-24 269051 | AY=7" 2
4-25 281777 | A 1%y (+)WSW 2 | M5x55WSW-7T
4-26 269030 | ILAVk 1
4-27 281670 | 4Y—Thn'— 1
4-28 269031 | A%Ya 1 | M5x12
4-29 273515 | 4u97+€077) 1 |30~ 40744
4-30 273516 | 71-IN4vh 1
4-31 281565 | 4v9%%V77t077) 1 | 32794
-32 269377 | NYRY 1
4-33 261696 | 749347 1
4-34 265752 | #VYAUNAT T 1 |35~ 40744
4-35 264031 | W47 h34T 1 |36~ 38744
4-36 261115 | ¥'0Avb 1
4-37 261690 | #/Y3AINAT’ 1 | 160L
4-38 263038 | A—nN70-N47° 1
4-39 264653 | 74METEVT) 1
4-40 261117 | 997’ 1
4-41 269828 | FTAIRY (HW 2 | M5x16W
4-42 281208 | FTAI%Y (W 1 | M5x16W AY4
4-43 288306 | N'47° 1 | 5x8x10L
4-44 281596 | AL 1 | F¥3-4

-10-




=
AR

5. BC233M
T &

-11-



REES | BRES B & & WM Bk 1
5-1 221460 | K3 A0'% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVt R YHAANT 1
5-4 219431 | 6 hHYFHIANT 1 | ZAunn' 3
5-5 022865 | AT FANT 1 | 8x10
5-6 236060 | M)7Vh4tEYrY3 1 | BC233M i

-12-




eco
©

Q = LB AETR
BsEHRBEHRZO

Ay R—- b 42— BE 0120-898-114
ZFIFIRERY: AN9:00~PM5:00(+.H. 5 H %2 <)

Printed in japan 2014-06.J




